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ager, woula you g -

i b‘nk mm'; gcny due to the r iquidity as measured by the current and quick
1\’;@: a 208, poo

Proiez:l 6

o |

g information of Biratnagar Manufacturing C‘-’mpan

y: ;

f.v,-' Soy - QllﬂWin 2
W’:‘ci .t::.“gﬁeg ................. Rs 8(},000 Current asBets.......ivsussscannan, Rs 200'
C“ﬂfn: R — 120,000 Fixed assets, net ... 40,0
ls‘;:‘_’;;} L ZS— 400,000 Total aésets. ................................... 600,00

. Calculate the company’s debt ratio. |
b, Calculate the company’s debt to equity ratio.

¢.  Calculate the company’s equity multiplier.
& @& 33.33%, b. 30%, c. 1.5 times

7 i
a sider the following information of a company:
Annualsales......... T R, Rs 360,000 Accouts Receivable

e R8 360,000 Accouts Receivable................ Rs 60,000
Lo s L ORI @Z‘,OOO R A AR B s JRs 200,000
T A ks Rs 100000 Days in year.................................. 360

a. . ‘Calculate inventory turnver ratio. What does it measure?
b Caleulate Days Sales Oustanding. What does it measure?

c.  Calculate total assets turnver ratio. What does i
A : oes it mea ?
“ £ a Stimes,b.60 days, c. 0.833 times : ——

8 g
m the following inco ;

ne statement and o
Sales : :

............................................................
-----

.................................
........

- Gross profit

--------------------------------------------------
Teee

Net income or earning after tax
Less: Divident paid to common stockholders

Price ea
Calcujate:
Gross margin..

= Pt i
€<) ﬂmmonequity@ ) :

2 r.MA-uunungunu )
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P | lxwhmmm
<hate (MPS) R0 Barning vield
dhtahiﬂwmghnn:ntgwm

e

L YHINYI VT

: Ahummdﬂaﬁdlmwmlh

n--...pi‘QQDOOQQ.IQQ\Q!

....... -

ssesnesee PETTERE L LS A .o

X

depreciatic is Rs 480

Je WWRIMOO
on, compute
w acid-test ratio,

)‘/0\0 inventory turnover ratio,
net profit margin,

retum on eqmty

ation ratio, ¢,*¢
from Van Home and Wachowicz 6.2

m ‘\ .‘ ‘. .. L] ‘.0’, ' = 53%\ g . 29
e 3 "
—”
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6 5 e w00,/
Cont ol goods sold ———

-----------------------------------

.........................................

Wincurrem asulsandRsSZSOUOmmvml
/ level is Rs 315 000 and it will raise

‘and use them to increase inventory. How '_f ach ¢

able) increase without violating

‘ (notes pay |
m‘ﬂ\a firm's quick ratio after H s an)

" mt of short-term funds?
Adopted from Weston u.qnm

ratio = 1. 19 imes
mw

a M ratio of 14, a current ratio of 3.0, m
s, total current ummoflhnslooﬂo _and cash an
300 in 1995. 1f the cost of good ¢ sold equaled ¢

DSO for 1995?

iley's annual sales and its
righarm 1

AR lanban AN









#= pracricaL PROBLEMS | —

¢
L

/P/ablem 1 _ | _
: ‘ing information: )
Con§1der the'follow ing Rs 100 Marketable SeCUIIHES.irerstesssssscsinieniss 50
7~ Actounts Payable.....n ST 5
——Accounts receivable ... . .400 Notes payaDi€.....ocoenee : ;
e ACCIUCA WAZES covovvvvvenvervasssmmrsssssentoeses 100 Other acCru@ls .c.coovewessisnisenecssmmncsiass 50
- Accumulated depreciation..........c... 800 Paidin capital....icccoimemmsinesecnicaans: 300
Ch o o e e e 100 Preferred StOCK .....ccooommimniniisensirenssesess 100
we=Cortimon stock (Rs 1par).....weeweesrs 200 Retained €arning........coeeemesesesessses 700
Deferred taxes. .....covusrsrssimninses 150 Treasury StOCK ......cccoumicimirmimmasnsiscesuncns 100
Gross property and plant............... 2,000 \INVENEOTIOS ..ecveeriiamsnsensasicnesiucinninasanss 400
Long termudebtiil .o hiiivinncamanionnods 500 1y @2 m’(ﬁ) w2 'r'/j ¢

Required: Balance sheet
. A " '
= g dopted from Weston and Cope:aqd 21

Problemy 2

apa Roach Exterminators, Ifu:.¢ has sales of Rs. 432,000, costs of Rs. 210,000,

epreciation expense of Rs. 25,000, int
of 35 percent. = #2400, Interest expenses of Rs. 8,000 and a tax rafe

L What is the net income for this firm?
i, A Suppose the firm paid out Rs.

. addition to retained eamihgs?
iii. Suppose the firm had 30,000 s

65,000in cash dlh'\\’?idends, what is the

share figure? + Or EPS, figure? What is the dividend pet

# Netincome Rs 122,850, A ' A |
/R‘ 0 EPS Ko 410 and RS g 377 > Westerfeld and Jordon 27
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FINANCIAL STATEMENTS AND CASH rLows cuapTER2 EEd

followmg information: s ‘
Rs 450,000 Cost of goods SOV cersssaeriooress G 2,30,000

‘e expénses .............................. 50,000 Selling eXPEenSes ... et 25,000
15,000 TREEIESE couvicommmimsmmsimmesmesnnrensressasies 10,000
ok ()00

D preaa non
A 40 % Number of common stocks ..
Re aired: (1) [ncome statement (i1) Earning per share
i 4 Netincome Rs 72,000 and EPS Rs 6.00 \
rohle >
nsider {he following information :
e S Rs 190,000 Material .....ocoummmmsessemernstes Rs. 60,000
............................................ 30,000 Heat, light, power S s G000
Indirect JABOUL .o sinesaasssemsassmssnsernass 11,000 Depreciation ...t 12,000
_gelling EXPENSES oncrssssmsssessess e 20,000 TNEELESE ..ovveairiesiseasssusansssaseress 2,500
11,000 TaX LALe iciusissemssienensseenmasser 50 %

Office expenses

Requn’ed Income statement to determine net income
~ Netincome Rs 18,750 /
I ?“5; E:

ses new cloakmg machinery three

ingon Widgets purcha
million. The machinery can be sold to the Romulans toda ' : rA)
Klingon' ‘scurrent balance sheet shows net fixed a assets- of S 600 0 current
hablhb&s of Rs. 1, 800,000, and net working capltal of# 900 000. If all the ,
“cufrent -assets WeIg hqmdated today’ _company; ould d receive Rs. 2.9.
million cash- ’\t’“ i P e
. Whatis the book value of IZ{mgon S sets t_o&_ay’ - (a7 i =
ii. Whatis the market value? = 2
Adopted i from Ross, Westerﬁeld and Jordon-

£ ()Rs 4300990 () Rs. 5@0@00

Problem
Gonas, Inc., has been sales of

~ of Rs. 1,000 and interest expense O
-~ the operating cash ﬂfw or OCF?
: Adopted from Ross, Westerfield arid Jordon

Rs9,750, costs of Rs. 5, 740 deprec'latxon expense
£ Rs. 240. if the tax rate is 35 percent what 1/5/

»~ Rs. 2956.50

o
- The ber 2%, 2001 balance sheet of Venu's Tennis Shop showed current
" assets of Rs.1,200 and current liabilities of Rs. 720.. The December 31, 2002,

balance sheet showed current assets of Rs.1,440 and current llabllxheS‘

- Rs.525. What was the company’s 2002 change in net working capltal o
L - ") ' Adepted from Ross, Wésterfield an¢

4 435
Problem 8
 Consi
- :le: g liouowmg }nformatlon Kailai Corporation:
: cctui1;’l$ya ............................ Rs 50,000 Deferred taxes ...
...................................... 150,000 Common stock

Paldmca ital 5
Prefel'fed;s’todz ..................... w0 300,000 Cash...... o
SRR (s 0 S 100,000 Acc. De‘p”{, - o /

£ Q . ﬁ



Ly leasevasvisidstions 000

00,00( i osblesic 0 o

ng e =l % I(

sarning um,unu l_?rr;;etable bt L 50’0((:‘4

Rv!mm-.i ea ')l(’.A, .m“’“(m o |

o : "18,00,000 al
Inventory e

Gross ;vl,ml /

yoe SRS ’ 000
qullirml: ”.‘h;l,‘,i,.,.,. o e
2l Tatal ol balance . | 3 I
ollowing income and expe, §

——— A »d the f
proble has reporte

! (i :
i/m(um‘ ('nmpnny

The Gol ARG S
a3 and 20x4:
items tor L e I U S Rs 40,000 451% ‘I
r\‘-(‘.\fmwg PR s ST 20,000 20’0%
N < TR Ao (11 e ke
Cost of cales ( excl dcp) .............................................. 6,000 6,5%
Marketing expenses: A e 1,800 L8y
General administrative ek e N e 1,200 2100“
Deprccia s 5,000 1 01003
N\ Ilrest EXPenSe.. i U M oy A
[ gt oo s s S T T S 0 A
| Accruedax paid.. st g »
" Required: N
7 (i) Prepare income statement for 20x3 and 20x4.

(i) What is Goldstone's operating cash flow for each year?
(iii) Discuss the di.ff'é{ence between net income and operating cash flow.

Adopted from Weston and Copelang
. s aTa l - e A
7 ()Rs. 3600; Rs. 3,102 (i) Rs. 10.200; Rs. 15,700 - ¢ ~ CAT q ~Tas) 4y

Pmblem@ i j -
The Roark Corporation hak Rs2,000,000 in long term debt with an interest
?nf 112 92(,6 anddno other in‘erest bearing debt . It had net revenue of Rs 4 000;0
» and its cost of sales (excluding de reciati ,
Dot § depreciation) was Rs 1,800,001
=y }G!{_F(XP/ Was Rs 135,000. Marketing and general expenses wer

o
ih. e ) O/M investment ;
i £ IO o B 10000 nt of expemsen. R - CLY COmpanies, Roark i
\
=

net of expenses. R
; efs; L mte‘isxfs ] .es. Roark uses\g \34/% tax rate in reportstt
1) Whatis Roark's gross in\m(;/for 19x67 ':I

a
tisits YPerating cagh flow? | 2

: X

1631250 Rs,18 : Ot :
3% M% (il Rs\_g};‘edofm({n)wlgsstoqand Copelandg
,000; (iv . 11,05500; (v) B

Little
- Ing, I
"?cortxue (EBmWaseI::'gly eporteq net |
at was the i income
: of Rs 3

Compgy % ion, a;\ “1is : i |
Pany's Intereg; exd € compg million. Its operatif{

“ R 000,09 Pense . fh: Y Paysa4o percent tax ralt

Year?

Ado i ‘
Pled from Brigham and Houston 2
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Cohe RIATENENTR ANR Canpn Fimws CHARTES & .

T AL
i el
o I iuih CTeners bt tonarstly Sepeariend il — 0 TRARL ™
I‘!',\ ",,'vuo g Armretini PRt Wi B AN200 What s the spmnpaty s
1 esintame tet el D! \... o (1 Frrtes Bt Aot T TLEE) ok oy oies
:‘rr \ hatanad Beuss Baghan @l ieamce 3
M4 e 1
B — ™ —_
\W' <
"o Koty ey fveenilly L S | 000 o ogwrsting Hneeee mn .
The Ty & sjsay cooiotn of e AOULOKKY ut Lmgg dewims floltnt wliel s o b S
ik Ba NN cvmmiinen ity Kardell & b,

gt Hier lax vl
.—‘\l ::"'hn.lo-v tapiite # _;.-‘ﬁ‘ sttt swiess o hett capetad, Thee Caamprany 1 n
X-Ql the 4] et tas Ot sohat] What s Randidls EVAY
o~ P A W ,(-.rﬂr"' At gl Pran Mg gut reap I B
?-5( s Menmo 1he i L\_” - p"q"("’)’w,"ﬁ‘
3;:\' Trsbstem 14
g ! T Usven Curpuration has epesaling inoame (EBIT) of Ms FRLO00. The
srsmpanty ¥ deprociatinn eaperee in e 200000 Kiaven is 100 peroerl squity
! finsmred, st 1t foces 4 &) peycent U e Wikat arn the company's e
| gncome Uiw net £ash faow, and its cpmeating canh Gow?
Actmal o Deggarh 4nd raaten 211
‘ o b 82 0T NCF Fg 620,000 OZF Je 80 00
. Prediem 15
¥ las vear Ratoer Radotien bad Ry 5 million mopmbummwlml The
iy mbﬂumﬂdeprxmhmamnlhlulummﬂmmw
OJ weterse of B 1 mﬂmmmmm-nhwuww.ﬂwmy
b Re L4 nlBon in cusent avets and s 4 mnillom in nen interest beaning
cmsert linbilizies: 1t has s 13 millon in nat plent and eqriipenent. It wimates
unwmuumwdammdwwmmm-uﬂy
nat cash (tem was depreciation. g.wi_q:_ .
(L What was the campany's net incorne for the yee? o
Gl Wrat was the company'y net casdy flow !
iy Mux-uthrmuwy‘mdupam;wmafmmmmlr
Iy} What was the company's operating cash flow?
Iv) nmmmmwmmmmummmnh -
ampany » free cash flow (FCF) foe the yeue?
(vl What weas the enmpany’s Bconamic Value Added (EVAY = Nefdr=- 3z XK
Qs Aczymnt fror Brgren rd Hasstan 813
w AN v P G000 B NCF *Fe 3400008 & NOFAT® g 3000000 ¢ OCF= M
EO0000 e PO« Me 2520000 1 EVA & Ry 500.000 .

/T

I

L2

-
-»
o —

»
L mammimamhwbuhmmnmnlhu
= ilann
Asvene X1 X2 Lisbilities X a2
B Cohheguvaloms 5 1 Nedes puyable W 0
W] Accoutneewivabde 19 23 Acwounss payably o8 “
B L P = | 15 Acctisd wages e 2
] LTE0 PPPPTT T S— 55 Acerind LAV — ) 5
L4 S — 3 Lowng e debt 0 5
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i ( mim ll*’t)Ck ...........
I L’)t 1 ") =2 (l i B AR Lo = 4(] 44
e T Ret? in(‘d ed nlﬂﬁ cassebsiant e —— “Q
9.0,,,___ l 0 1 Otal ..................... ;Q
O‘ g I
A I —— )

1 >
a lement of income
(<

A ('m’pumli(m st
2

svobod Sl ng ) L e
":“ ::“h(,r 31, x2 (in million®__———"""" o b
Jece T (T .. Rs &
—.{;'t Sﬂlch‘ ................................................. 5
Expenses : ) [s P e i s G SRIEB sorrr T 5
C(;;'! (5)1{ i(t);’\:’:ﬂ( and administrafive iR R ,_.2.—’—4
Selling; 7' T A N e s 11
s R SRS s RO 4
interdtipte s Lo U e e O R s e
Net income before taxes {(LT ..................................................... 7
Less: Taxes ............................................................... :g
DNt Imeome < e MR oI e L
Add: Retained earnings at e i i et 3
Subtotal .......................................................................................... 44
Less: Dividends Ao e e e P A e S TR
Retained earnings at 12/31/2 h ﬂ-u./S for X2 using the direct method for the
s ;

a. Prepare a statement of cas

orafion. i T
b ?:::;:aﬂitvmof funds (sources and uses of funds) statement f

ion using indirect method.
Svoboda Corporation using 1{1d1rec | (oA ot I

% /Rs 43,000,000

—

Lrgbiem 17 e
fe consolidated balance sheets for the Lloyd Lumber Company at the
§_Veginning and end of 1995 follow. The company bought Rs 50 million worth

- of fixed assets. The charge for depreciation in 1995 was Rs 10 million,

Earnings after taxes were Rs 33 million, and the company paid out Rs §
million in dividends.

a.  Fillin the amount of source or use in the appropriate column.
Lloyd Lumber Company: Balance Sheets at Beginning and End of 1995
(in millions)
Jan1 Dec. 31 Change
7Gash Source Use
LMarke'table security = Rs 15 —_ —_—
Net receivable N0 Rs11 eSO
Inventories /' Rs 30 Re29° ™\
Total curreny assets i Rs 75 v i
Gross fixeqd assets w o e
Less Accumylageq deprecias Rs 75 Relas o Sneas —
Net fixed aggaps  ©Cciation 25 X

Total asgets _Rs50 354 : LERIT
Accounts payable i Re T Rs % = oo

Notes payahle Rs 18 RSA213
Other currert 1ipsme.: Rs15 e —
€1t liabijtjen 3 A
L‘ong ferm debt Rs 1 15 SIS
Common Stock Rs g Rs 7 P e '
P s
Gy R T S i
57 i s
.




FINANCIAL STATEMENTS AND CASH FLOWD

nint‘d ea rming P E':(lL BM
Re ;31 ]ial"ili“cs and equit Rs 140 Rs 213
[\
T ¥ Total SOUTCES must :'qnnl total uses
Notts
Mvnt of cash flows. *

Pr(‘Pﬂ rea:

. ‘ Adopted from Weston and Brigham 3.12
p 8 Total Sourges = Total uses = Rs 102 million: b. Net cash flow from operations = Rs 18,

" Net cash flow from financing = Rs 51
; L /

plem 18 _
P::: welsw/Eleclmmc Corporation’s (NEC) balance sheets for 1989 and 1988

T s
(in mi #ns) are as follows: e
" - 1989 198-“ & :
G ........................................... Rs—‘} 1}.‘3,‘25-“\t .
Marketable R (L P / iR e 0 _(3_3,26-
i R“eivables ............................................................................................... ._9.0 \6j
[n\'entOTies ......................................................................................... __22'5___.-—1;9-
Total current S o R Rs 336 Rs 303
Gross = e e e V4_5()‘ 25+
Less accumulated depreciah'on’ s e e Y 4%,
e e e T Rs327, RS}MZ” 5o
Total el R S e Rs 663 :
Accounts oI e e Rs 54 Ry 45
-)Notes payable ............................................................................................. 9 45
R SR e 45 21
Total current 1{ADIHEES scrosssmessommsssmssasspesmssessseeseinssssttess Rs 108 Rs 111
g-term BV SRl S et R 78 24
—Common B et ~. 192 114
Retained earnings ...................... 285" 201 *
Total long-term capitalasissessssssssesssssssesss Rs 555 Rs 339
T ofal iabilifies and eQUIY o Rs 663
Additionally, Nelson's 1989 income statement is as follows (in millions):
S, NS e G W T e Rs 1,365
B e e T B 888
o A e 300
s NI e Rs 177
Tl ol Sl SRR L 10
" e R R IR T Rl i Rs 167
T R (BB g i g S T 67
e i S R LS Rs 100

Construct Nelson's 1989 statement of cash flows.

2 ‘ Adopted from Weston and Brigham 3.13
ash flows from operations = RS 88 million, Cash flow associated with lofg-term

Investments = (Rs 225) million, Cash flow from financing = Rs 80 million. /

B 3 9 Q v \\
at G.\m—/ ;——;2’ /E S
) N



B Chapter.s
¢ A s ercent intere - 5
ﬂf @ Bank A pay P Nt inlerest, COmPOUnded >.51

Mﬂ" The managers of Bank B wan jis e ::(Uarterly,
Wv ks annual rate, but interest is o phe compound et accoy

quOled' rate must Bank B set?

on its money market account.
Nt 1o equal Bank A's effective

ed
on a monthly basis, What simple, or

@ The First City Bank pays 7 percent interest, o

ot . mpounde i i

fob rits Gecond City Bank pays 6.5 percent interest rompop und“: W il
P inerest ed on effective inte ¢ i '> i
!‘ﬂ “"“",.us) a. Based ¢ ¢ Interest rates, in which bank would

money? you prefer to deposit your

b. Could your choice of banks be

influenced by the fact that i
withdraw your funds during the s

year as opposed to at the end of the year? In
assume that funds must be left o

compounding period in order for you lo receive any inter

answering, this question,
& 4q n deposit during the entire

est.

poblem 70 Manisha Shakya invested Rs.150,000 eighteen (18) months ago. Currently, the
W‘moj investment is worth Rs.168,925. Manisha knows the investment has paid interest every
* three (3) months (that is, quarterly), but she doesn't know what the yield on her

investment is. Help Manisha, compute both the annual percentage rate (APR) and the
effective annual rate of interest.

moblem71 Assume that it is now January 1, 1996, and you will need Rs.1,000 on January 1, 2000.
fmwlicof Your bank compounds interest at an 8 percent annual rate. :
™Y 5 How much must you deposit on January 1, 1997, to have a balance of Rs.1,000 on
January 1, 20007 :
‘ b. If you want to make equal payments on each January 1 from 1997 through 2000 to
: accumulate the Rs.1,000, how large must each of the 4 payments be?
! ¢ If your father offered either to make the payments calculated in Part b (Rs.221.92) or
| to give you a lump sum of Rs.750 on January 1, 1997, which would you choose?
d. If you have only Rs.750 on January 1, 1997, what interest rate, compounded annually,
would you have to earn to have the necessary Rs.1,000 on January 1, 2000?
€ Suppose you can deposit only Rs.186.29 each January 1 from 1997 througf\ 2000, but
you still need Rs.1,000 on January 1, 2000. What interest rate, with annual
compounding, must you seek out to achieve your goal? ‘ .
f To help you reach your Rs.1,000 goal, your mother offers to fgx.ve you Rs.400 o
January 1, 1997. You will get a part-time job and make 6 additional payments of

equal amounts each 6 months thereafter. If all this money is deposited in a bank that

Pays 8 percent, compounded semiannually, how large must each of the 6 payments

be?

i in Part f?
& What is the effective annual rate being paid by the ba:kt;: t :a = e
h. Reinvestment rate risk was defined as being the ris SURIS SReuEL ;

i lower rate of interest thar

COupon ill have to be reinvested ata : : (

i :;y w Pa}'menfs::lb";m Is there a reinvestment rate risk involved in the-

- €Y were previously earning: i |
~ Preceding m\alysis?‘lfso,hqwnﬂsh!mm“b“m
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5.50

Problem 60 Yo

(Loan amortization)

Problem 61
(Loan amortization)

Problem 62
(Amortizinag loan)

Problem 63
(A' I . o lm")

* Problem 64
mglmn)

Problem 65
(Interest rates)

(Siwm‘q :

Tetury)

Prop,
(Effective :::"
Take)

Chapler-?

ur company is planning
payment fully amortized 1€

the second year wi
The Jackson family is intere

125,000, 30-year morlgage:
h

1 repreSenl

sy

Funtla memnuas e
lVla“
ago

o borrow RS.],(X)(),U()O on a 5',V(“dr, 15 :
: : Yot

n. What fraction of the payment mq cenl,

lﬂdd(j at lh n’l.j;

kal.‘[

l‘h

rm loa
repayment of prmcipdl?

buying @ home. The family is
Y 1s applyi
Plying

ssted in
rms of the mortgage, they

Under the € ; for 4
will L
r(’(_'(\lvn -

ase

125,000 tod

: . sir home. The loan wi :
ay to help pure their h = ill be fully amortizeq '
3 ()V@r lh

renl mortgage rales are

8 erce resl P
l € n“ lnl(‘ esl 1S (()I‘llpOUl d(’d m
B Ont}
Ny

next 30 years. Cur

he month.

due at the endof L
paymenl?
nents made during the f
2 2 first year WI“
80 ““‘"ﬂn‘

and all payments are
. What s the monthly mortgage
b What portion of the mortgage payt

interest?

You take out a 30-year Rs. 100,000 mortgage loan with an APR of 6 perce
paylx\e?nt.vl‘. In 12 years you decide to sell your house and pay off tl ey
the principal balance on the loan? 1€ mortgage. Whai

You borrow Rs.10,000
e ;qualat 14 perc‘:ent compound annual interest for four ye
i pa:nual m:ltallments payable at the end of each yy e
yment that will com i
pletely amortize the |
e the loan over four years!

b. Of each
equal payment i
s , what is the amount of interest? The
2 > amount of loa

|

Lina recent]
y obtained a 10
compound annual i year, Rs. 50,000
interes 0 loan, 4
at the end of each of l,mle and calls for annual i Thevlnan feanies Bl
the next 10 ual installment payments of Rs. 74514

a
: :ow much (in Tupees) of they ;
- How much total i
inte; i
s rest will be pai
nstruct a loan amortizat paid over the life of the loan? (H
an? (Hint: You do not 1

1
on table (o answer this

firm year!
year's payment is principal? :

C a1l 2 A
question. Some simple mat*

bank

pal
Pay. Hg

Wever' Nlr

) Copy Al ST

Lever Limited‘

Wants :
U will |y to sell on credit, giving custome®

ave to

le g g, Simplebomw from her bank to @™ ¥

SIMple rate ! 15 percent, but with mon®”
O her customers (a“ of whom'f"

o

will ¢
quo
will ex

a
rcmd, ctly C()Ver her

it S
“Ustomerg, financing costs. What 8

AR ]
xat;‘oc:'nlnal 9,6 percent annua] ra":t:
. ° Onithis investment assuminé
Hally? ( iy
ally? (c) Quarterly? (d) MO

Pay

k‘



¢
NSNS
.. =

o

& &
Q.
o=
g<
Sl
<X
=D
o o
{5 e
o <t
4%
@




L ( :
O Dt
=
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pnymb'"u) ihe first Rs.10,000 on Y + bank paying 7 percent interest a sum of Mone

il deposit in el Bl \
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sufficient to P : ;

today.

a  How largemustt

b. How much will be in
After the last withdrawal?

he deposit be?
the account immediately after you make the firg i

Problem47 Rama wants to buy car that costs Rs:12,000. She has arranged to borrow the

(Repaying a loan) purchase price of the car from her credil union at a simple interest rate equal |
percent. The loan requires quarterly payments for a period of three (3) years, | the
payment is due three months (one quarter) after purchasing the car, what will be
amount of Rama's quarterly payments on the loan?

Plobh’nls What is the present value of a perpetuity of Rs.100 per year if the appropriate dis
(Presont value of rate is 7 percent? If interest rates in general were to double L

/ and the appropriate disc,
PIPERRY) ot rose 1014 percent, what would happen to the present v p e

alue of the perpetuity?

Problem 29 A property will :
& provide Rs.10,000 . ;
(Perpetuities) the discount rate? ayear forever. If its value is Rs. 125,000, what must

the - 200 at
Stream) € €nd of Yo, If the a ﬂ’teendonea,-

valuey w}m o rate of Interesy 4 Rs.

A 300 at the end of Year 5, and Rs. 304
€ Investment is 8 percent, what 51°
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is the amount of the annual payment?

Assume that itis now January 1, 199¢, On Januar
: 1,1 : .
Wb%m asavings account that pays 8 percent. y 1,1997, you will deposit Rs.1,000 into
a If the bank compounds interest annually, ho :
on January 1, 20007 Y- how much will you have in your account

b. What would your January 1, 2000, balance
compounding rather than annual compounding?
¢. Suppose you deposited the Rs.1,000 in 4 payments of Rs.250
1997, 1998, 1999, and 2000. How much would you have in your
2000, based on 8 percent annual compounding?

d. Suppose you deposited 4 equal payments in your account on January 1 of 1997, 1998,
1999, and 2000. Assuming an 8 percent interest rate, how large would each of your

payments have to be for you to obtain the same ending balance as you calculated in
Part a?

be if the bank used quarterly

each on fanuary 1 of

account on fanuary 1,

soblem39  Your broker offers to sell you a note for Rs.13,250 that will pay Rs.2,345.05 per year for
mmxd 10 years. If you buy the note, what rate of interest (to the closest percent) will you be
' earning?

foblem40 A mortgage company offers to lend you Rs.85,000; the loan calls for payments of

'_-"fq Rs.8,273.59 per year for 30 years. What interest rate is the Mortgage Company charging
mierest) you?

foblem41 A 5-year security has a price of Rs. 1,300, The security pays Rs. 400 at the end of each of
"""""’?3 the next 5 years. What is the expected return of this investment to that investor?

’“&_lﬂ On a contract you have a choice of receiving Rs.25,000 six years from now or Rs.50,000
"M twelve years from now. At what implied compound annual interest rate should you be

indifferent between the two contracts?

."- I‘: 3 ASyear security has a price of Rs. 1,300. The security pays Rs. 400 at 'the end of each of
et ) the next 5 years. What is the expected return of this investment to that investor?

m“h“ While Prashant was a student at the Kathmandu University, he borrowed Rs.12,000 in
¥ student loans at an annual interest rate of 9 percent. If Prashant repays Rs.1,500 per year,
how long, to the nearest year, will it take him to repay the loan?

; i Rs.1,750
You 0,000. To do so, you plan to make deposits of Rs.1,750 per
need to accumulate Rs.1 B i e

deposit will be more than Rs.1,750 if more is
to roun.d out to Rs.10,000. How many. years will it take you to reach your
000 goal, and how large will the last deposit be?
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B b Chapter-s
e oA rookie quarterback ls in the procesg of negol;
frob! Jash manager has offered him three Possible contra,

@ All of the money is guaranteed anq is paid at th
< the contracts are listed below: ¢ end of each year. The terms of each of

: Col]lra(jl"l Payments Contract 2 Payments Contract 3 p.

Year1 | Rs. 3 million Rs. 2 million Rs. 7 milli =
Year 2 | 3 million 3 million 1 r;uillion -

Year3 | 3 million 4 million 1 million

Year4 | 3 million 5 million 1 million
The quarterback discounts all cash flows at 10

i percent. Which of the three contracts
offers him the most value?

lem55 A factory costs Rs.400,000. You forecast that it will
Wﬁm Year 1, Rs. 180,000 in Year 2, and Rs, 300,000 in Y.
i) e factory a good investment? Explain,

produce cash inflows of Rs. 120,000 in
ear 3. The discount rate is 12 percent. [s

~ mblem56 Find the interest rates, or rates of return, on each of the following;

fderaiedf a2 Your borrow Rs.700 and promise to pay back Rs.749 at the end of 1 year.
M7 b You lend Rs.700 and receive a promise to be paid Rs.749 at the end of 1 year.
¢ Youborrow Rs.85,000 and promise to pay back Rs.201,229 at the end of 10 years.
d

You borrow Rs.9,000 and promise to make payments of Rs.2,684.80 per year for 5
years.

. toblem 57 Jirel Company just borrowed Rs.25,000. The loan is to be repaid in equal installments at
M the end of each of the next 5 years, and the interest rate is 10 percent.
s a  Setup an amortization schedule for the loan.
& How large must each annual payment be if the loan is for Rs.50,0007 Assume that
the interest rate remains at 10 percent and that the loan is paid off over 5 years.
©  How large must each payment be if the loan is for Rs.50,000, the interest rate is 10
percent, and the loan is paid off in equal installments at the end of each of the next
10 years? This loan is for the same amount as the loan in Part b, but the payments
are spread out over twice as many periods. Why are these payments not half as
large as the payments on the loan in Part b? '

M"ﬁ You are thinking about buying a car, and a local bank is willing t‘o.lend you Rs.20,000 to
Wyt s PUY the car, Under the terms of the loan, it will be fully amortized over .5 years (60
up) Months), and the nominal rate of interest will be 12 percent, with interest paidt sonithly.

~ Whatwoulq be the monthly payment on the loan? What would be the effective rate of
: % 'Monﬂ\eloan?

!
* N,

59 Me that your aunt sold her house on December 31 and that she took a mortgage in
7 theamgyn o Rs.10,000 as part of the payment. The mortgage has a quoted.(or snmple)
St rate of 10 percent, but it calls for payments every 6 months, beginning on June

‘mortgage is to be amortized over 10 years. To the closest mpemwhnt g

“nt of interest that was paid during the firstyear?




| {ﬁ\\‘." o

Troblem 70
s

hoblem 71
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pank A pays 8 percent interest, COMpoundeq 2 5.51
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The managers of Bank B want its m S 1 arterly,
: 2 % arke

annual rate, but interest is 1o pe con t accoy

quoted, rate must Bank B set?

on its money market account,
Nt to equal Bank A's effective

The First City Bank pays 7 perceny interest, co

gecond City Bank pays 6.5 percent interest, compounded quarter]
: uarter Y-

a. Based on effective interest rates, in which b
Ny R ank w L y
money? ould you prefer to deposit your

mpounded annually, on time deposits. The

b. Could your choice of banks

be influenced b
) ‘ed by the fact that i
withdraw your funds during 18 EEt ek

the year as opposed to at the end of the year? In
assume that funds must be left o

compounding period in order for you to receive any inter

answering, this question, )
& 4q n deposit during the entire
est.

Manisha Shakya invested Rs.150,000 eighteen (18) months ago. Currently, the
investment is worth Rs.168,925. Manisha knows the investment has paid interest every
three (3) months (that is, quarterly), but she doesn't know what the yield on her

investment is. Help Manisha, compute both the annual percentage rate (APR) and the
effective annual rate of interest.

Assume that it is now January 1, 1996, and you will need Rs.1,000 on January 1, 2000.

Your bank compounds interest at an 8 percent annual rate. :

a. How much must you deposit on January 1, 1997, to have a balance of Rs.1,000 on
January 1, 20007

b. If you want to make equal payments on each January 1 from 1997 through 2000 to
accumulate the Rs.1,000, how large must each of the 4 payments be?

¢ If your father offered either to make the payments calculated in Part b (Rs.221.92) or
to give you a lump sum of Rs.750 on January 1, 1997, which would you choose?

d. If you have only Rs.750 on January 1, 1997, what interest rate, compounded annually,
would you have to earn to have the necessary Rs.1,000 on January 1, 20007

€ Suppose you can deposit only Rs.186.29 each January 1 from 1997 throug?x 2000, but
you still need Rs.1,000 on January 1, 2000. What interest rate, with annual
compounding, must you seek out to achieve your goal? ; ,

f. To help you reach your Rs.1,000 goal, your mother offers to ‘gl.ve you Rs.400 on
]anuary 1, 1997. You will get a part-time job and make 6 additional payments of

equal amounts each 6 months thereafter. If all this money is deposited in a bank that

Pays 8 percent, compounded semiannually, how large must each of the 6 payments
be?

i id by the bank in Part f ?
What s the effective annual rate being paid by : e ,
Reinvestment rate risk was defined as being the Tisk that ma tiof interest o x s
coupon payments on bonds) will have (o be reinvested ata lower ra :
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